





. &

210

85x

(0))))))==DDDND)2
. ?10/M8 x 80

x1

x1

x1

LIS
|

x1

M8x30

M8 x 1000
x1
AR

[0222x89 L 500mm




wwoyy XYW _

. wWwWOTZ NIW ~

665

960

858mm

COOOOOGO"OO
o ©0 o009 o ©pP oo
0 oQ a0 o o
P-c 10 -=-—--— 0| 0 o
© @ b o
% o | ° o
GO o O
o © oo
o o ° o
© o o_o
° 5 T .
o b o
o




H>210mm

A=H-190

H<210mm










® %+ 0
L e © o.o S
o T .
~ M4x7 (x4)
—o—[0] /=10
T20 T20

M4x7 (x10)

—o——[0] [=— [

T20

T20




M4x7 (x4)
CCo—




POS. A

® %+ of— o

S o4 ®
@ 0
L e ©

POS.B




Max 70

aMin14 (POS.2\ Min40
Max 45

POS. 1




A=H-190mm

o O o O

”: D

o
6 o, 020 00 5

o o
o
©0%90 00
O o 0o O
N O

O g o0 0 g OO
bo 0 o0 o O
d 000 o OO O
009 90° o0
O O o

00 O o

Q 0 o
B.\ 00 000 ¢
O 00 0 0°9°

<

10



H-190mm

A

11



TU5 v U U U g v U U U g U T
000 090000 090 000 090
P 00 O o0 g0 0000 g0 o000 o0 ¢
O 0090 0o 009000 o0 00 000 o0 _©0

T20
M4x7 (x5)

OOOOOOOOOOOOOO%
o o O 00 O o O 00 O o

o o o
O o 00 000 o 00 00O o
QO (0] QO (0] Q_ QO

12




UOOOOOOOOOOOOOOOOO_
00 009 00000°9000 0 qg
00,0%90 00
000 000 00 o
D 00 O o o P~—=

b9 0p0 ©0o0°©°

09000 WhO 000 0 o9 ¢

o o o
6 029000 50%9000 4 0
0 90 000 090 000 OO0

)

F
X
N

<
F
=

T20

M4x7 (x5)

13



O Vo oOp OV o0Op OV o O
P o o © 00 0 0 ¢

2 O o 00 00O o
b©O ©90©° 00 9

O o 00 00O
b©O ©909° 00
09 000 0 o
00,0%000,0%0 00,
000 000 000 090 000
b 0000 o0 00000 00 O
© 000 o 00 000 0 00 00
b 000 90° 009 0089 o
00 009 0000090000
00,0%000,0%0 00
00 0o 09009 000 000 oo0
b 00000 0000 g0 00
O 000 o ©0 000 o 00 0
b 0p9 ©0°9 0p0 00°©°
00 009000009 0 0 of
00,0%000,0%0 0
000 090 000 090 o
P o0 0o g0 00O oo oo
O 0090 o OO0 00O o OO
b9 009 ©90° 0009 0o

P 000000000 g0 0O
O 000 o OO0 000 o 00 0 o0 AQ
b%®0p0 0002 050 00°0° 0g
00 009000009000 0 0o
0600,0%9000,0%90 00,0
OOOOOOOOOOOOOOOOO
UOOOOOOOOOOOOOOOO

(¢} (¢} (¢}
00,0°%9000,0%9000,0%0
000 000000000000 000

0 0 o0 00000 00O 0 ¢
O o 00 000 o 00 00O o ©O
00 909 00 009 0p0 ©

Q Q Q

14



N
X\ pros
-

© 000 0 OO0 000 0 00 0 ¢
b 0p0 002 050 009 0o
00 009000009000
00,0%9000,0%90 00
00 o 0909 00 00¢g oo
P o0 O o0 g0 00 O o0 o O o
O 000 o OO0 000 o OO
b©®0p0 000 00 000
0000900000900
00,0%9000 , 0°%0 g

O 000 o 00 00O o

b 0p0 90° 0p0 ©
000090000090
00,0%9000,0°%0
000 000 000 090 o
b 0000 o0 00 O 0 ¢

000 0090 000090 000
P o0 0o g0Oo00O0o0 g0 00O
O 000 o OO0 00O o 00 00O
UOOOOOOOOOOOOOOOO
00 0 o092 00000990000 0°¢°
o o o

0 ©°90 00, 029000, 0
000 o000 00O o0O0g¢g OO

©O 0 o 0 00 0 0 o0 00 O o

PH2

15



0 000 0 o0 0000,00000,0 00000

F-o0 O o

O 000 o OO0 000 o OO0 00O0 o OO0 00O0O p 00 00O o OO
00 0090000090000 09°9000 00

o
b 0p0 009 00 0029 050 0002 00N 0% 0p0 0o

00,0%9000,0%9000,0%0 00,
000090 000090000090 000
P 0000 g0 000000000 gO 00 O
O 000 0o OO0 0090 0 00 000 0o 090 0 o0
b 000 90°9 0000 909 00 009° o /@
00 0090000090000 09 000 0
0600,0%9000,0%9000,0%000
0 0Op o000 000 000 0900 oo
0 0000 O 0000 O 00

b oo o o
b 000 909 00 009 00 00°©°
00009 0000090000090 00

o © o

o
O 000 0o 00 000 o 00 000 0o 00 o
0600,0%9000,0%9000,0%0 0

000 0000000090000 0090 o0
P 00O o0 g0 00000 0000 oo
O 000 o 00 000 o 00 000 o OO
b 000 90°9 0009 909 09 0o
0000900000920 0000°0
00,0%000,0%9000,0°%°%0
000 000000 090000 0O0o0
P 00 O o0 g0 0000 g0 000 o0 ¢
O 0090 o 00 00O o 0O 00O o o/
b 000 90°9 0090 009 0p0 ©
00 0090000090000 o0°¢°
00,0%000,0%9000,0°
OOOOOOOOOOOOOOOOOO
b oo 0 o O 00 0 0 g O 00 O 0 ¢
b 0p0 0009 050 000 050 00
000090000090 0000©9°0o0
00,0%000,0%9000,0%90 0
O o O

o
O 000 o OO0 00O o 00 000 o OQ
000000 000000 OO0 0O
o

00 o0 0 o

o O o

P o0 O o g0 00 O o

© 000 0 OO0 000 0 00 000% 0 00 0o0

b 0p0 000 050 000 050 009 0g

000090000090 00009°9000 00

00,0%9000,0%9000,0%000,40

OOOOOOOOOOOOOOOOOOOOOOO

P 00O O o0 g0 0000 g0 0000 g0 000 o0 ¢
O o 00 000 o OO0 00O o 00O 00O o
OOOOOOOOOOOOOOOOOOOO

09 0000090000090 0000°

16



c c c c c c
0600,0%9000,0%9000,0%000,0%9000,0%000,0
000 000 000 000 000 090 0000900009090 000 O
b 00 0 0 o0 000 0 o0 00000 000000 O
O 000 o OO0 00O o OO0 000 o 00 00O o OO
b © 000 909 0p0 009 00 909 00 00©
00 0090000090000 0°900000%°00
00,0%000,0%9000,0%9000,0°%0
000 000000000000 000000 0090 o0
b 00 0 0 o0 000 0 o0 0000 O 00O o O
O 000 o OO0 000 o OO0 OO0 o 00 00O o O
b © 000 909 0500 009 050 009 050 0o
00009000009 00000°2000000°0
00,0%000,0%9000,0%9000,0°
000 000 000 000000 000 o000 0O g
b 00 0 0 o0 000 0 O 00000 00O o0 ¢
© 000 0 ©O0 000 o0 00000 0 00 009 o

00,0%9000,0%9000,0%000,0
000 090 000 090 000 090 000 O
b 00 0 0 g0 0000 o0 0000 O 00 O o
O 0090 0o OO0 000 o 00 000 0o 00 00O
b © 0090 909 000 009 00 009 00
000090000090 00009000 00
00,0%9000,0%9000,0%0 00 4
000 090 00 000 o000 O000g o0 0o
D 00 0 0 g 0 0000 0O 00000 00O
O 000 0o OO0 000 0o 00 000 0o 090 0 o
b © 0090 909 000 009 050 009 o ¢
00 0090000090000 09000 o0
00,0%9000,0%9000,0%0 00,
000 090 000 090 000 090 000 O
D 00 0 0 g O 00 00 O 0000 O 00 O o
O 0090 0o OO0 000 0o 00 000 0o 00 00O o
b © 000 009 0p0 009 00 00° 00 O
000090000090 0000°900000°0
0600,0%9000,0%9000,0%000,0°%0
000 090000090000 090 000 090 0
b 00 0 0 o0 0000 o0 00000 0000 O O
O 000 o OO0 000 o 00 000 o 00 000 o OO0 0O
b ©C 000 0909 0p0 009 0p0 909 00 ©90°9 0o
00 00929 0000090000090 0000°000 0

0 02000 ,0%9000,0°9000,0%90 00

000 000 0900 000 090 000 0990 00 o0¢

000000000000 g0 0000 g0 00

O o 00 00O o 00 o000 o 00 o o0 o OO0 o

17




~VNODOR

greup

CATA ELECTRODOMESTICOS, S.L.
Oficinas: ¢/ Anabel Segura, 11, Edif. A, 3a pl. 28108. Alcobendas. Madrid. Espafia
Fabrica: ¢/ del Ter 2, Apdo. 9. 08570. Torelld.Barcelona. Espaia
T.+34 938 594 100 - Fax +34 938 594 101
WWW.chagroup.es - cna@cnagroup.es

Atencion al Cliente: 902 410 450 / +34 938 521 818 - info@cnagroup.es
International SAT - www.cnagroup.es/warranty

Eg5m
i

=]

60822015.31.03.2023



